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occasions when giving a gift _____ spoken communication, since

the message it offers can cut through barriers of language and cultural

diversity. A) overtakesB) nourishes C) surpasses D) enforces 195. In

order to keep the line moving, customers with lengthy _____ are

required to do their banking inside. A) tansitB) transactionsC)

turnoverD) tempos196. President Wilson attempted to _____

between the powers to end the war,but neither side was prepared to

give in. A) segregateB) whirlC) compromiseD) mediate197. The

police have installed cameras at dangerous road _____ to film those

who drive through red traffic lights.A) trenchesB) utilitiesC)

pavementsD) junctions198. It is reported that thirty people were

killed in a _____ on the railway yesterday. A) collisionB)

collaborationC) corrosionD) confrontation199. Since a circle has no

beginning or end,the wedding ring is accepted as a symbol of _____

love. A) successiveB) consecutiveC) eternalD) insistent200.

Executives of the company enjoyed an _____ lifestyle of free

gifts,fine wines and high salaries. A) exquisiteB) extravagantC)

exoticD) eccentric201. If you want to get into that tunnel,you first

have to _____ away all the rocks. A) haulB) repelC) disposeD)
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